FE - %E ) ﬁ(ﬁ@?m) SHY %?(ﬁ)
BEECHAZTHIE 284.83 8,150 86.1
55 ZIBESCHLBE=ZTH3&15 249.93 6,600 75.6
tlsj ZIBECHAE=TESE16 259.41 6,850 78.4
BEESCHLB=THESE 17 254.47 7,050 | & - 3k 76.9
BIEESCHLA=ZTHGSES 233.79 6,170 70.7
ZIEESCHA=TES&E4 234.23 6,180 70.8
ZIES(LB=THS&ES 234.07 6,180 70.8
ZIEESCLBE=THS%6 233.59 6,170 70.6
BIBECHLA=THSE7 234.27 6,180 70.8
& |BESCHBESTHSES 234.00 6,180 70.7
A |#BS<>A=THS&9 269.72 6,900 81.5
O |zma<oa=TASEN 261.97 6,440 79.2
ZBECHBE=ZTHGSER 234.10 5,990 70.8
ZIBESCHA=THS&IS 234.21 5,880 70.8
ZBECHLAR=ZTHS &4 233.12 5,780 70.5
BB HLB=THGEIS 231.68 5,930 70.0
ZBECHBE=THGEI6 234.23 6,000 70.8
BB HLE—THIE 1 353.64 7,960 | & - Sk 106.9

T [gmacoa—TRIES 208.97 5,560 63.2
ﬁ] fiEE < LB—THI16%E4 208.56 5,550 63.0
ZEE < HA—THI16&E15 208.95 5,560 63.2




